(156. 5)

HETH o HI A =
A\ | H16.12.13 RTHNELE
A\ | H71.2.8 SRR EIBE
~12) U | |
A= - | |
rd /H\6> | |
/ // /»"‘\\ L !
= A |
// / TN /,\ /// : :
$142 D L |
p S _ o i : : |
. ) 4/3 | ; | !
/ \\?/ i / L § i
/;> | T L L T |
\ ! rIccoozziopooz=dakboooooz <1
S 3 H l[ Rl
(
13 fHHE PP 1 =
12 R—REE/NY K [ = 1 2
11 MEARIKR T — R ABS 1 FFas
- i ‘//5\3 9 AR D EPDM 1 2
= /\;:j: 8 PPIyEY PP 1 FFaSL
3 { ?/) 7 Wik EPDM 1 2
- (/A\> 6 HKT LR ISR MT— 1 R4k
>;:’ 5 bbl= ABS 1 wIA b
“\i> 4 +oy ABS 1 FFa5
R e ) 3 Sa—H— ABS 1 FFasL
136 N 2 Bm ABS 1 w74+
e — 1 RV E S ABS 1 PN
BES o & ## =1 H=
5\ 360.6 0.3 (508) - -
=] i | # B | & E | & o BE B _
& ERA H16.4.13 T T
% ==
%5 ER R E LLE:] %ﬁ*;F7k I\ = . 70
$114.3 E- T 12 i 77
. VA %
#EEH SrSLES




(156. 5)

RETH ® i R B
A\ | H16.12.13 RTHNELE
A\ | H71.2.8 SRR EIBE
~12) U | |
A= . | 3
S /H\6> | :
TN :
¢ 150 //// /ﬁ\\z/) / !
AN N |
v oA (13 : :
o142 1A o 1 : : :
) / i ! ! R
! 1 i N
3 H}%:::::if:lﬁ:::';j‘::::::j:i ‘<_|' %
: 13 woHa PP 1 =
12 R—XEE/NY K [ = 1 2
11 HEARAK T — R ABS 1 #E B
9 MRy F> EPDM 1 2
% 8 PP/IvEY PP 1 FFaIL
3 7 577 AR S EPDM 1 2
T 6 BT LA ISR FT— 1 w1k
5 HAE ABS 1 w74+
4 ror ABS 1 FFa5L
3 St —H— ABS 1 FFasIL
S 2 Bm ABS 1 w4~
E— 1 Avo Y ABS 1 w4k
S o & ## = H=
58606 0. 3(500) - -
A ft | # B R E | & B0 BE CT-T
A BEAS H16.4. 13
% ey
&at Bz R E E s = . —F
$114.3 T 12 ftHEK k5w D
. . =ES
73 2 S D == SHP00056




